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QUESTION 1

What is the proper LUN Masking configuration for LUNs presented to an ESX Host when using the Boot from SAN
option?

A. The Boot LUN should be masked so that only one ESX Host can see the LUN, while the datastore LUNS should be
masked so that all ESX Hosts can see the LUNs

B. The Boot LUN and datastore LUNS should be masked so that all ESX Hosts can see the LUNs

C. The Boot LUN should be masked so that all ESX Hosts can see the LUN, while the datastore LUNS should be
masked so that only one ESX Host can see the LUNs

D. The Boot LUN and datastore LUNS should be masked so that only one ESX Host can see the LUNs

Correct Answer: A

QUESTION 2

Click the Exhibit button. What does the graph in the exhibit indicate?
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A. The average amount of read and write latency from the ESXi host to the SAN.
B. The average amount of read and write latency from the guest operating system to the virtual machine virtual disk file.
C. The average amount of read and write latency from the ESXi host to the datastore.

D. The average amount of read and write latency from the cluster to the datastore.
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Correct Answer: C

QUESTION 3

An administrator has received calls about a virtual machine experiencing intermittent application issues during the
evening. To troubleshoot, the administrator needs to capture the virtual machine in the state it is in during the evening
hours for later analysis. Which two tasks would accomplish this requirement? (Choose two)

A. Create a scheduled task to clone the virtual machine once per evening

B. Create an alarm that is triggered when a loss of VMware Tools heartbeat to the virtual machine occurs.

C. Use esxtop in batch mode and capture metrics during the evening hours.

D. Create a scheduled task to create a snapshot of the virtual machine once per evening

Correct Answer: CD

QUESTION 4

An administrator is using Update Manager 5.x to update virtual appliances in a vSphere environment. The environment
is using the vCenter Server Virtual Appliance (vCSA). What would cause the remediation to fail?

A. Updating of the appliance can only be done if the vCenter Server Virtual Appliance (vCSA) has been put into
Maintenance Mode.

B. Remediation must be configured on the Appliance Administration page before use.
C. Remediation of the vCenter Server Virtual Appliance (vCSA) with Update Manager is not supported.
D. Remediation requires the hosts to be connected to vCenter using an IPv4 address.

Correct Answer: D

QUESTION 5

When PSA is coordinating the VMware NMP and any installed third-party MPPs, the MPPs perform which task?
A. Implement logical device bandwidth sharing

B. Handle I/O queuing to the logical devices

C. Provide logical device and physical path 1/O statistics

D. Manage physical path claiming and unclaiming

Correct Answer: D
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